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INSTITUTE OF
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Internal Assesment Test | —Nov 2021
Sub: Signals and Systems Code: 18EE54
Date: 12/11/2021 Duration: {90 mins Ml\gfli(s 50 |Sem: | V | Section | EEE (A &B)
Note: Answer any fiveFULL Questions
Sketch neat figures wherever necessary. Answer to the point. Good luck!
OBE
Marks CO RBT
1 Check whether the following signals are periodic or not. If periodic, find
fundamental time period and fundamental angular frequency.
(@) x(t) = sin (Znt + %) + cos (37Tt + %) +eUmtty) [10M]| CO1 | L3
_nm
(b)x[n] = sin(n?n+ g) + cos (n?n +§) +6e 7
2 (a) | Define Signal and System. [2M]| CO1| L1
2 (b) | Sketch the following signal for the given x(t) shown in figure
3
D y(t) = x(—2¢t + 3) (i) x <—3 (t + Z))
F 3 x(t)
2 L o— —
[BM]|CO1| L3
A |
3 -2 -1 0 1 2 ¢
3 Evaluate the following expressions
2m 2
Vs
(@) f tsint § (§ - t) dt (b) f et=*5(2t + 8)dt
0 -8
© 2
(©) f costu(t +1) 8(t)dt (@) 2" 6@n-2) [10M] COL| L3
0 n=0
3
(e) z e*=2" §(4 — 2n)
n=0
4 Given the signal x[n] = [6 — n][u[n] — u[n — 6]], Draw the following
signals . [10M][ COL | L3
(a)x[2n] (b)x [E] (c) x[1 - 2n]
5 (a) Write the classification of signals [2M]|CO1| L1
5 (b) Draw the following signals
@D x)=ult+2)—2ult)+u(t—2)
((D)x@)=rt+1)—-r@®)—rt-1) [BM]|CO1| L2
(iii) x[n] =u(n +3) —u(n — 2)




6 (a) | Distinguish between (i) Deterministic and Non-Deterministic signal
(i1) Periodic and Non-periodic Signal [4M]|CO1| L1
6 (b) | A staircase like signal x(t) that may be viewed as the superposition of four
rectangular pulses. Express x(t) in terms of g(t).
E ¥ 5]
4 *********
SO ! [6M]|CO1| L3
2+4—— S &
1 I
14 i ] 1
A
+ } + [ 3 4
0 1 2 3 4 -1 0 1
7 (a) | Find the Even and Odd components of each of the following signals
@ x(®) =0 +t*>+t3)cost
(iD)x(t) = 1+t +3¢% + 5¢3 + 9¢* [6M])COL| L3
(i) x(t) =1+t cost + t?sint + t3sint cost
7 (b) | Draw the even and odd components of the following signal.
Arx(t)
2
1/ 1 —»t [4M]|CO1| L3
-2
8 (a) | Find the expression of x(t),
If%z2u(t+2)+6(t)+46(t—1)+u(t—2) [2M]]cot L2
8 (b) [Sketch the following signals
@) x(t) y(2 —1t)
@) x(t = 1) y(=1)
t 3
*® 1”( ) [BM]| col| L3
+
t 0 t
-2 |- 1 2
-1
Cl CClI HOD
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